[ number of missing inner layers | [ number of missing outer layers |

I - - - - - —| Entries 2805 Entries 2805
El : : : : + | Mean 0.1369 Mean 0.6513
r Std Dev 0.5612 Std Dev 2.005
L[ S 4 i S— [
107E Entries 2805 10 : : +Enties 2805
E Mean 0.1369 : : : Mean 0.6513
N Std Dev 0.5612 Std Dev 2.005
2L 2L S PR
10 3 Enmes 2806 10 3 Entries 2806
F Mean 0.1358 F Mean 0.6575
N Std Dev 05585 N} L Std Dev 2.017
10 10 R AL EEEEEREEE I
o Entries 1329 o Entries 1329
r Mean 0.3371 r Mean 0.5764
Std Dev 0.8432 Std Dev 1.876
-4 -4
107°F ; : : 107°F T T
E Entries 1328 E Entries 1328
L . Mean 0.3366 L . . . Mean 0.5768
-5 .. Std Dev 0.8434 ] I . o b b ... | StdDev 1.877
10°E T 107 : : : .
F : Entries 250 F Entries
B . . Mean 0.292 B . Mean
fe....l....l....l....l.... NI S P T Py | -6] 1 [ IR A P N e
o1073[ L At 01()14_ 5
IS C S F
24 F [0 S ) G o 5 o e 8 T K SR T EEETREEE FERTEEETE:
2__- - F=t=
L I 0.8F Tk
0 5 6 7 8 9 10 0 5
T 8 IIﬂ{VCLlUI TOUUEVT
mean hi egé g%%%‘ﬁ FEORSbTLIER2 1000evt
= 40r - | Entries 2805
L : | Mean 19.07
[ r B ‘|_Std Dev 4.927
2 L
35 : :
2 o 102k Entries 2805
=
= - Mean 19.07
% 30'_ d Dev 4.927
o Entries 2806
- Mean 19.06
25- Std Dev 4.939
F 10
20
15
10F
o 1
r Mean 17.93
o 15 ° 1 Pl R W R P I e
= o -~ " - T T ITeT
g f 2 b [T ]
o] E o] .
o I=- o [ 1l 1 + +: P :
F 0.5 -1-- + v -----I'--++ Fegnes IEEEEEE FEEER LRREER
0.9F--- r } -I- = +'++++
E [ ++ ++++++++4.+-h; +.;.,, g + N
0.8
=3 © 5 10 15 20 25 30 35 40
track hits
[ N of reco track vs pT |
Entries 133002 ]_E - Entries 3206
Mean 2.164 E : Mean 7.962
Std Dev 6.079 - : Std Dev 23.07
: I I : : I
Entries 133002 1007 Entries 3206
10_2 Yy L] Mean 2.164 F Mean 7.962
. . Std Dev 6.079 L Std Dev 23.07
: : ; ol e . )|
: : 133002 10 E =N 3213
: 2 . o e 7.941
. : . [ 5td 23.04
: : 107°F 3 £ d I3 XIS 1
: : Entridd 133002 E Fndi d
_4 H Mean 2.164 B leg 3
107° - : Std Dev 6.079 L stoldd/ sjs
E : : : [ 107°F i 1
B B B Entries 133002 F Enifi 4
5 B . Mean 2.164 C ef p2
10 : Std Dev 6.079 1075k tdf ] 2846
: : : | I E 11
Entries 26827 E Entries 328
Mean s B | Meaﬂ 9.123
01074k Ll bl o
= E T
] o
X 15
1
-F




	Contents
	Page 1


